2023.08%E5H

LAYV RV ey«

LEVELLING SCREWS

No.E-9654

Wt i8R (MESASC.RELIE: — v )L7OLAYF)

(@)
N

NBK® ERON’

LBT. LBTN:545C LBTS. LBNS:SUS303
LBTN : foimZie A HRC50-60
LBT. LBTN: Zw&)L7OLX vy
Fwh (LBTN) : 3T OX—hXw+
LBTN. LBNS:Fwvk
O HEREFARD e, LRU VT FU—hEDREBAED
BHICERYUET,
OBEID_EBEH/NE L IRFTCOIEEICEN T,
OAARL Y F TORIEF FICTIUE RV eHIEEE R
TY,
OB F DRV THREEN TR T,

* {BEAEES
#—9—No. | No. AGBE) B c D E F G  TOEE mme | @
%946312 | LBT-B16 | M16X1.5 100 80 10 10 13 SR 7 14.5 150 800
% 946313 | LBT-B20 | M20X15 . 100 80 10 10 16 SR 9 = 233 200 960
% 946314 | LBT-B24 | M24x1.5: 103 80 13 10 18 SR10 = 347 300 | 1,150

A
¢ /
VT \
N |
E C D
B

BtiR-fiigx  #E:SUS303) * EEIEES
F—5—No.| No. | AWEE) B c D E F G TEEE  gmg | @
% 946315 | LBTS-B16 | M16X1.5 100 80 10 10 10 SR7 | 145 150 | 1,490
% 946316 | LBTS-B20 | M20X1.5 100 80 10 10 16 SR9 | 233 200 | 1,870
% 946317 | LBTS-B24 | M24x1.5 103 80 13 10 18 SR10 = 347 300 | 2,410

A
H /
%p g ©
E C D
B

BRI R #ES45C. REUE:Z v )L 0OLXYF MEGE:FTYNZHIOX—~XwF)) * EEIEES
F—5—No.|  No. AGEE) B c D E F G W FERE mmg | @i
% 946318 | LBTN-B12 | M12x1.75 = 136 120 10 6 8 9 SR10 . 7.2 100 | 1,180
* 946319 | LBTN-B16 | M16X2 136 = 120 10 6 10 13 SR14 135 = 200 | 1,350
% 946320 | LBTN-B20 | M20X2.5  136.5 120 10 6.5 13 16 SR17 © 21.1 © 300 | 1,600

A
H [
] 5 ©
B

W EEER  FE:SUS303. [B&E: T v * [EEAEER
#—5—No. No. AGEB) B € D E E G Ho TERE mmg | @
% 946321 | LBNS-B12 | M12x1.75 = 136 120 10 6 8 9 SR10 . 7.2 100 | 1,680
% 946322 | LBNS-B16 | M16x2 136 = 120 = 10 6 10 13 SR14 135 = 200 | 2,000
% 946323 | LBNS-B20 | M20X2.5  136.5: 120 10 6.5 13 16  SR17 © 21.1 © 300 | 2,440

SINCE 1560 . .

NABEYA co,um.  CADF—959Y0—F - EEREI Web U1 T ! [ AT |

721

EI=Spi R

1003





